Chemistry 1 Bvaluation — Stoichiometry Name
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Block

For the following problems, SHOW ALL WORK.

1. Given the reaction,
2Hyg + Osy - IHO,
to produce 0.600 moles of H,0,

a.) how many moles of H, are needed?
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b.) how many liters of O, are needed?
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¢.) how many molecules of O, are needed?
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Given the reaction
4 NHyy + &0,y - k¥ No, + 6 H,0

how many grams of NH, will be required to react with 43g of O,?

H2,0y
S L3940,
39s(4
K
_ﬁf_ﬁi. = —-—>/—‘J-—3-— X= /*0?3/‘.,&‘ ¥ N
"{ba' /JRCJO}

(-0%mote Y ( 13404 )= 4, U&}

Given the following reaction

Q CHig * /130y =~ §COy + JOHOg

determine the number of liters of carbon dioxide produced when 78.0 liters of oxygen gas
is used. i e
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